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FA AR LLIAT 705 778 887| 1,665
AL ER LI BT 1,055 1,231 1,327 2558
JLEEHT 2321| 2738] 3010/ 5748
HEBCHT 40 39 55 94
A& B O HT 20 27 37 64
& <FHT 34 46 44 90
PE &0 5 <F T 36 44 42 86
FriE A ET 544 613 664| 1,277
76 718 N ET 119 103 109 212
b8 A BT 21 30 36 66
ako0=1: 28 35 40 75
B aET 30 39 31 70
1 HT 46 59 76 135
A HT 59 77 75 152
ZEHT 49 46 61 107
HMEFRET 43 45 43 88
F T 48 73 77 150
= RHT 44 42 51 93
R ET 32 42 47 89
Eoikanlidl 35 32 46 78
IR BT 67 70 93 163
Hea BT 38 50 56 106
S FHHET 51 49 63 112
N 192 227 254 481
= R BT 1,076] 1,191| 1,346| 2,537
= H O 85 83 103 186
Fift = HT 12 11 12 23
it EHT 91 94 106 200
EHT 18 19 22 41
= EHT 46 54 59 113
H—TH 32 21 24 45
HWM=TH 26 36 33 69
HM=TH 88 97 113 210
HMmTH 34 38 42 80
HMATH 65 69 78 147
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HI<TH 75 75 86 161
A=HT 30 28 31 59
iF SR = BT 49 64 64 128
L XITHT 47 47 47 94
BRI HT 116 85 102 187
HNET 838] 1,101] 1,172 2273
B [E T 105 123 112 235
75 it BT 224 253 267 520
FAHT 236 331 351 682
K HETE 39 49 59 108
W & BT 121 152 161 313
NEFErHT 231 227 256 483
KEHET 113 111 146 257
39 AL BT 231 265 301 566
HiE H5 T 70 77 104 181
KIEET 18 21 23 44
% R T 9 10 13 23
5o LLI BT 270 291 297 588
b, B T 68 67 78 145
7k B2 SFHT 149 173 198 371
i [ T 91 109 129 238
=k 464 451 545 996
Y, e T 227 221 257 478
LT 428 485 516/ 1,001
[/ Et) 11,479| 13,064| 14,477 27541
21 - ET 1,942 2290 2492 4782
7% T 78 103 101 204
FZHT 125 168 157 325
AR EHT 192 215 236 451
X 3BT 153 171 206 377
[/ Et) 2,490 2947| 3,192 6,139
% HHET 1,022| 1,254 1.254| 2,508
Yk T 791| 1,000 1,070| 2070
541 BT 102 137 160 297
FHT 1,213 1522| 1650] 3,172
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LI FH BT 231 281 283 564
% H 1L BT 1,209| 1,421 1559 2,980
FHHET 617 714 769 1483
SR Ji7 ET 865 1,098] 1,147 2245
[/ &) 6,050 7,427| 75892 15319
+ =156 61 94 98 192
T =488 970| 1,113| 1282 2,395
gl 1,042| 1,218 1414] 2,632
= HRET 266 361 381 742
XTHET 35 58 62 120
= B Ey 22 26 23 49
F F EPHT 116 182 202 384
XiRERT 437 480 433 913
[/ &) 2,949] 3532| 3895 7427
1% F BT 192 262 276 538
a1 ET 46 66 81 147
=] 357 369 447 816
F ST 72 106 124 230
A 3k T 37 61 56 117
5L HT 217 310 325 635
Y A% T 36 58 71 129
FE L KHT 59 96 86 182
# AT 67 104 109 213
[/ &) 1,083 1432 1575 3,007
K& <FHT 109 122 148 270
J\SEHT 138 207 233 440
Gi: 2N 124 151 175 326
5 ElFFET 755 855 845| 1,700
=T 182 209 262 471
iz 51 69 74 143
75 BT 113 149 150 299
th SR ET 37 464 454 918
55 F] T 408 484 497 981
X8 FH &R <F AT 23 26 40 66
8 H &R F AT 46 50 72 122
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6 FH &R AL BT 1,039] 1,323 1412| 2735
BR F0HT 68 79 91 170
[/ Et) 3,427| 4,188| 4453| 8,641
/N SRHET 4559| 5294| 5,783 11,077
INFRET 1,045 1,284 1,326| 2,610
it Fa T 562 696 724 1,420
AT 337 381 397 778
=2 T 54 78 75 153
/NER T 356 484 492 976
Az RET 145 179 175 354
A Fh T 210 313 309 622
Jiti [58 =F HT 327 405 431 836
75 FH A BT 466 506 527| 1,033
INRETER—TH 119 125 149 274
INRETER_TH 156 150 151 301
INRETER=TH 213 281 304 585
INKETEE—T B 25 27 26 53
INKBTFEZT B 51 67 70 137
INKBTEE=T B 80 90 84 174
[/ Et) 8,705 10,360| 11,023 21,383
[ 5t ] 36,183| 42,950 46,507| 89,457
AN P 3 458 415 429 844
(& Ef) 36,641 43,365 46,936 90,301




